

City Council

Mayor: Chris Emerick

Mayor Pro-Tem: Sandy Szeliga

Council: Dan Elliott
Sean Duffy
Matt Hildebrand

City Clerk: Kathy Fiebig

Interim City Manager: Richard Lewis

City of Evart 200 S. Main St. Evart, MI 49631 (231) 734-2181

www.evart.orc

CITY OF EVART SPECIAL COUNCIL MEETING AGENDA Tuesday, September 14, 2021 @ 6:00PM

This Special Meeting will be held in the Community Room at the Depot located at 200 S. Main St. Evart, MI 49631

- 1. Pledge of Allegiance
- 2. Call to Order: 6:00PM
- 3. Roll Call
- 4. Citizens' Comments limited to 3-4 minutes per individual
- 5. New business
 - D. Additional funding for storm damage cleanup
- 6. Citizens' Comments limited to 3-4 minutes per individual
- 7. Adjournment

Page: 1

RCB CONTRACTING SERVICES

6649 65th Avenue Evart, MI 49631 231-846-0800

rcbcontracting17@yahoo.com

Bill To:

City	of	Evart			

Invoice

Number: 1359

Date: September 12, 2021

Ship To:

Terms	Project
10 days	Storm Clean Up

Date	Description	Amount
Sept 7-12, 202	115 East Second Street- Remove Triple Tree off of House with Crane per Dusty	10,000.00
	First and Main SE Corner- Remove 20 inch uprooted Maple	500.00
	623 N. Pine- Remove 30 inch uprooted Maple	1,500.00
	Hemlock and Third- Remove two trees on NW corner per Dusty and Shane	3,500.00
	Hemlock and Third- Remove one tree on NW corner per Dusty	1,500.00
	Forest Hill Cemetery- Remove Black Walnut from among headstones and large Maple on curve per Dusty (leave stump)	5,200.00
9-8-21	Brush and Wood Removal Dump truck and 1 man (10 hours @ \$100/hr)	1,000.00
9-8-21	Loader and 1 man (10 hours @\$150/hr)	1,500.00
9-8-21	Excavator and 1 man (10hours @ \$85.00/hr)	850.00
9-8-21	4 men labor (10 hours @ \$160/hr)	1,600.00

0 - 30 days	31 - 60 days	61 - 90 days	> 90 days	Total
\$39,545.00	\$0.00	\$0.00	\$0.00	\$39,545.00

Page: 2

RCB CONTRACTING SERVICES

6649 65th Avenue Evart, MI 49631 231-846-0800

rcbcontracting17@yahoo.com Bill To:

City	of	Evart		

Invoice

Number: 1359

Date: September 12, 2021

Ship To:

Terms	Project
10 days	Storm Clean L

Date	Description	Amount
9-9-21	Brush and Wood Removal- Dump truck and 1 man (9 hrs @ \$100/hr)	900.00
9-9-21	Loader and 1 man (7 hours @\$150/hr)	1,050.00
9-9-21	Mini Excavator and 1 man (7 hours @\$85/hr)	595.00
9-9-21	1 man (7 hours @\$40/hr)	280.00
9-10-21	Semi and Lead and 1 man (6.5 hours @\$125/hr)	812.50
9-10-21	Truck #2 Semi and Lead and 1 man (4.5 hours @\$125/hr)	562.50
9-10-21	Loader and 1 man (6.5 hours @\$125/hr)	812.50
9-10-21	Excavator and 1 man (8 hours @ \$85/hr)	680.00
9-10-21	2 men labor (10 hours @ \$40/hr)	400.00
9-11-21	Brush and Wood Removal- Truck #1 and Lead (9 hours @\$125/hr)	1,125.00
9-11-21	Loader and 1 man (8.5 hours @\$150/hr)	1,275.00
9-11-21	Excavator and 1 man (8.5 hours @ \$85/hr)	722.50
9-11-21	Bucket Truck (8 hours @ \$125/hr)	1,000.00

0 - 30 days	31 - 60 days	61 - 90 days	> 90 days	Total
\$39,545.00	\$0.00	\$0.00	\$0.00	\$39,545.00

Page: 3

RCB CONTRACTING SERVICES

6649 65th Avenue Evart, MI 49631 231-846-0800

rcbcontracting17@yahoo.com

Bill To:

of	Evart					
	of	of Evart				

Invoice

Number: 1359

Date:

September 12, 2021

		,	

Terms	Project
10 days	Storm Clean Up

Date	Description	Amount
9-11-21	15 inch chipper (8 hours @\$250/hr)	2,000.00
9-11-21	2 men (4.5 hours @ \$40/hr)	180.00
	8	
		0
		8
	2	
	Tot	al \$39,545.00

0 - 30 days	31 - 60 days	61 - 90 days	> 90 days	Total
\$39,545.00	\$0.00	\$0.00	\$0.00	\$39,545.00

Beaver Tree And Irrigation IIc

Po Box 757 Evart, MI 49631 US +1 2312502332 beaverti@outlook.com



INVOICE

BILL TO City Of Evart Evart, Mi 49631

SERVICE	DESCRIPTION	QTY	RATE	AMOUNT
Labor	Labor for 5 man crew with chain saws at 8 hrs each. Opening up roads after storm event. Running chain saws, backhoe and mini skid steer to clear down trees from streets. On site from 3:00pm until 10pm	35	50.00	1,750.00
Backhoe	Hourly rate for 4x4 John Deere backhoe	4	90.00	360.00
Tracked skid steer	Tracked mini skid steer with swivel grapple/forks	4	40.00	160.00
Dump trailer and truck	14k dump trailer and truck	4	40.00	160.00

BALANCE DUE

\$2,430.00

Beaver Tree And Irrigation IIc

Po Box 757 Evart, MI 49631 US +1 2312502332 beaverti@outlook.com



INVOICE

BILL TO

City Of Evart Evart, Mi 49631 INVOICE # 1262 DATE 09/08/2021

DUE DATE 09/08/2021

TERMS Due on receipt

SERVICE	DESCRIPTION	QTY	RATE	AMOUNT
Tree removal	Main/2nd street south east corner. Crane removal of storm damaged 36" maple between street and side walk. Roots were compromised and heaving.	1	3,000.00	3,000.00
Tree removal	Main/2nd street north east corner between side walk and street. 20" maple with compromised roots.	1	1,200.00	1,200.00
Storm Damaged Tree Removal	Cedar/5th street north west corner. Between side walk and street.24" maple removal. Storm had broken it off part way.	1	2,000.00	2,000.00
	Also removed 16" tree with crane in twin creek up stream from the bridge on 5th. It was blocking water flow.			
Chipper Crew	12" chipper, chip truck, 2 men and chains saws.Chipping brush 4-10hr days. 9/8-9/11	32	250.00	8,000.00

BALANCE DUE

\$14,200.00